DATE OF ISSUANCE		EFFECTIVE DATE_	

OWNER: St. Charles Parish

CONTRACTOR: <u>Barriere Construction Co., L.L.C.,</u> Contract: <u>St. Charles Parish Road Maintenance 2010</u> Project: <u>St. Charles Parish Road Maintenance 2010</u>

OWNER's Contract No.: P090103-4

ENGINEER: G.E.C., Inc.

ENGINEER's Contract No.: 51206102-005

You are directed to make the following changes in the Contract Documents:

Description:

Delete the Following Work Items:

a. Contract Item No. 7: Deleted Item: Base Bid: Adjustment of Drainage Structures

DESCRIPTION: Adjustm	X Base Bid or Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
7	13	Each	\$100.00	\$1,300.00

A difference of (-\$1,300.00)

b. Contract Item No. 8: Deleted Item: Base Bid: Adjustment of Water Valves

DESCRIPTION: Adjustn	X Base Bid or Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
8	13	Each	\$35.00	\$455.00

A difference of (-\$455.00)

c. Contract Item No. 9: Deleted Item: Base Bid: Relocation of Infrastructure Items

DESCRIPTION: Relocati	X Base Bid or □ Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
9	1	Lump Sum	\$20,000.00	\$20,000.00

A difference of (-\$20,000.00)

Total of Deleted Base Items = (-21,755.00)

a. Contract Item No. 10: Deleted Item: Alternate 1: Adjustment of Drainage Structures

DESCRIPTION: Adjustn	☐ Base Bid or X Alt.# _1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
10	39	Each	\$100.00	\$3,900.00

A difference of (-\$3,900.00)

Contract Item No. 12: Deleted Item: Alternate 1: Limestone Base

DESCRIPTION: Limesto	☐ Base Bid or X Alt.# 1_			
·REF. NO.	QUANTITY:	. UNIT OF MEASURE:	, UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
12	39	Cubic Yard	\$60.00	\$2,340.00

A difference of (-\$2,340.00)

Total of Deleted Alternate 1 Items = (-\$6,240.00)

a. Contract Item No. 5: Deleted Item: Alternate 2: 6 - Inch Depth Asphalt Patching

DESCRIPTION: 6-Inch I	☐ Base Bid or X Alt.# 2_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
5	63	Ton	\$110.00	\$6,930.00

A difference of (-\$6,930.00)

b. Contract Item No. 7: Deleted Item: Alternate 2: Adjustment of Manholes

DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# 2			
REF. NO.	QUANTITY: `	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
7	2	Each	\$100.00	\$200.00

A difference of (-\$200.00)

c. Contract Item No. 8: Deleted Item: Alternate 2: Adjustment of Drainage Structures

DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# 2			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
8	2	Each	\$100.00	\$200.00

A difference of (-\$200.00)

d. Contract Item No. 9: Deleted Item: Alternate 2: Adjustment of Water Valves

DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# 2			
REF. NO.	QUANTITY:	UNIT OF MEASURE: •	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
9 .	2	Each	\$35.00	\$70.00

A difference of (-\$70.00)

e. Contract Item No. 12: Deleted Item: Alternate 2: Undercutting

DESCRIPTION: Undercu	DESCRIPTION: Undercutting				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
12	92	Cubic Yard	\$6.00	\$552.00	

A difference of (-\$552.00)

Total of Deleted Alternate 2 Items = (-\$7,952.00)

Total of Deleted Items = (-\$35,947.00)

2. Add the Following Work Items:

a. Contract Item No. 15: Base Bid: Plastic Railroad Striping

DESCRIPTION: Plastic F	DESCRIPTION: Plastic Railroad Striping				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
15 :	2 :	Each	- \$440.00	;· \$880.00 ;	

A difference of (+\$880.00)

Total of Addition in Base Items = (+\$880.00)

a. Contract Item No. 18: Alternate 1: Shape and Grade (Estay Ln.)

DESCRIPTION: Shape a	☐ Base Bid or X Alt.# 1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
18 ,	440.28	Square Yard	, \$12.00	\$5,283.36

A difference of (+\$5,283.36)

b. Contract Item No. 19: Alternate 1: Temporary Signs and Barricades (Estay Ln.)

DESCRIPTION: Tempora	☐ Base Bid or X Alt.# 1			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
19	1	Lump Sum	\$500.00	\$500.00

A difference of (+\$500.00)

c. Contract Item No. 20: Alternate 1: Mobilization (Estay Ln.)

DESCRIPTION: Mobilize	☐ Base Bid or X Alt.# _1_			
. REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
20	1	Lump Sum	\$8,750.00	\$8,750.00

A difference of (+\$8,750.00)

Total of Addition in Alternate 1 Items = (+\$14,533.36)

a. Contract Item No. 16: Alternate 2: Catch Basin Rehabilitation (Stanton Hall)

DESCRIPTION: Catch B	☐ Base Bid or X Alt.# 2			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
16	l	Each	\$2,200.00	\$2,200.00

A difference of (+\$2,200.00)

b. Contract Item No. 17: Alternate 2: Railroad Insurance

DESCRIPTION: Railroad	☐ Base Bid or X Alt,# 2			
REF. NO.	QUANTITY:	UNIT OF MEASURE;	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
17	1	Lump Sum	\$2,642.00	\$2,642.00

A difference of (+\$2,642.00)

c. Contract Item No. 18: Alternate 2: Railroad Permit

DESCRIPTION: Railroad	l Permit	•		☐ Base Bid or X Alt.# 2_
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price).
: 18	; 1	· Lump Sum	\$600.00	: \$600.00 ;

A difference of (+\$600.00)

Total of Addition in Alternate 2 Items = (+\$5,442.00)

Total of Additional Items = (+\$20,855.36)

3. Revise the Following Work Item Quantities:

a. Contract Item No. 2: Base Bid: 2 - Inch Depth Cold Plane Current:

DESCRIPTION: 2 - Inch Depth Cold Plane				X Base Bid or □ Alt.#
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
2	32,915	Square Yard	\$1.00	\$32,915.00

Change to:

DESCRIPTION: 2 - Inch	X Base Bid or Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
2	30,815.59	Square Yard	\$1.00	\$30,815.59

A difference of (-\$2,099.41)

b. Contract Item No. 3: Base Bid: 2 - Inch Depth Asphaltic Wearing Course Current:

DESCRIPTION: 2 - Inch	X Base Bid or Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
3	3,621	Ton	\$75.00	\$271,575.00

Change to:

DESCRIPTION: 2 - Inch	X Base Bid or 🖾 Alt.#				
REF. NO.	REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE				
3	3634.84	Ton	\$75.00	\$272,613.00	

A difference of (+\$1,038.00)

c. Contract Item No. 4: Base Bid: 6 - Inch Depth Asphalt Patching Current:

DE	SCRIPTION: 6 - Inch	X Base Bid or □ Alt.#			
	REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
	4	824	Ton	\$110.00	\$90,640.00

Change to:

DESCRIPTION: 6 - Inch	X Base Bid or 🛘 Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
4	821.64	Ton	\$110.00	\$90,380.40

A difference of (-\$259.60)

d. Contract Item No. 5: Base Bid: Reflectorized Raised Pavement Markers

DESCRIPTION: Reflecto	DESCRIPTION: Reflectorized Raised Pavement Markers				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
5	42	Each	\$6.00	\$252.00	

Change to:

DESCRIPTION: Reflecto	DESCRIPTION: Reflectorized Raised Pavement Markers				
REF. NO.	QUANTITY:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
5	19 .	Each	\$6.00	\$114.00	

A difference of (-\$138.00)

e. Contract Item No. 6: Base Bid: Adjustment of Manholes

DESCRIPTION: Adjustm	DESCRIPTION: Adjustment of Manholes			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
6	13	Each	\$100.00	\$1,300.00

Change to:

DESCRIPTION: Adjustm	X Base Bid or □ Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	· UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
6	7	Each	\$100.00	\$700.00

A difference of (-\$600.00)

f. Contract Item No. 10: Base Bid: Shoulder Material (Earthen Fill) Current:

DESCRIPTION: Shoulde	X Base Bid or ☐ Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
10	24,900	Linear Foot	\$1.25	\$31,125.00

Change to:

DESCRIPTION: Shoulde	X Base Bid or 🗖 Alt.#			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
10	27,585	Linear Foot	\$1,25	\$34,481,25

A difference of (+\$3,356.25)

g. Contract Item No. 11: Base Bid: 4 - Inch Wide Thermoplastic Reflective Striping

	0					
DESCRIPTION: Four (4)	X Base Bid or □ Alt.#					
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
11	12,973	Linear Foot	\$0.50	\$6,486.50		

Change to:

DESCRIPTION	N: Four (4) Inch Wide Thermopla	X Base Bid or ☐ Alt.#		
REF.	NO. QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
11	11,996	Linear Foot	\$0.50	\$5,998.00

A difference of (-\$488.50)

h. Contract Item No. 12: Base Bid: Single Head Arrow (125 mil) Current:

DESCRIPTION: Single I	DESCRIPTION: Single Head Arrow (125 mil)				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	· UNIT PRICE .	UNIT PRICE EXTENSION (Quantity times Unit Price)	
12	9	Each	\$215.00	\$1,935.00	

Change to:

DESCRIPTION: Single F	DESCRIPTION: Single Head Arrow (125 mil)				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
12	11	Each	\$215.00	\$2,365.00	

A difference of (+\$430.00)

Total of Change in Base Items = (+\$1,238.74)

a. Contract Item No. 2: Alternate 1: 2 - Inch Depth Cold Plane Current:

DESCRIPTION: 2 - Inch	☐ Base Bid or X Alt.# 1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
2	88,587	Square Yard	\$1.00	\$88,587.00

Change to:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Cold Plane				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
2	78,382.57	Square Yard	\$1.00	\$78,382.57	

A difference of (-\$10,204.43)

 b. Contract Item No. 3: Alternate 1: 2 - Inch Depth Asphaltic Wearing Course Current:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Asphaltic Wearing Course				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
3	9,745	Ton	\$75.00	\$730,875.00	

Change to:

ĺ	DESCRIPTION: 2 - Inch	☐ Base Bid or X Alt.# 1_			
	REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
	3	9,455.41	Ton	\$75.00	\$709,155.75

A difference of (-\$21,719.25)

c. Contract Item No. 4: Alternate 1: 6 - Inch Depth Asphalt Patching Current:

DESCRIPTION: 6 - Inch	☐ Base Bid or X Alt.# 1			
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
4	1,148	Ton	\$110.00	\$126,280.00

Change to:

DESCRIPTION: 6 - Inch	DESCRIPTION: 6 - Inch Depth Asphalt Patching				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
4	856.83	Ton	\$110.00	\$94,251.30	

A difference of (-\$32,028.70)

d. Contract Item No. 5: Alternate 1: 8 – Inch Portland Cement Concrete Pavement Current:

DESCRIPTION: 8 - Inch	DESCRIPTION: 8 - Inch Portland Cement Concrete Pavement				
REF. NO.	· QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
5	231	Square Yard	\$80.00	\$18,480.00	

Change to:

DESCRIPTION: 8 - Inch	☐ Base Bid or X Alt.# 1			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
5	233.11	Square Yard	\$80.00	\$18,648.80

A difference of (+\$168.80)

e. Contract Item No. 6: Alternate 1: Sawcutting Current:

DESCRIPTION: Sawcutt	DESCRIPTION: Sawcutting					
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
6	462	Linear Foot	\$8.00	\$3,696.00		

Change to:

DESCRIPTION: Sawcutt	DESCRIPTION: Sawcutting				
REF. NO.	QUANTITY:	UNIT OF MEASURE;	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
6	146.5	Linear Foot	\$8.00	\$1,172.00	

A difference of (-\$2,524.00)

f. Contract Item No. 7: Alternate 1: Concrete Curb Repair. Current:

DESCRIPTION: Concret	☐ Base Bid or X Alt.# 1			
REF. NO.	· QUANTITY;	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
7	151	Linear Foot	\$35.00	\$5,285.00

Change to:

	Oliday 101				
DESCRIPTION: Concrete	e Curb Repair	☐ Base Bid or X Alt.# 1			
REF, NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
7	105	Linear Foot	\$35.00	\$3,675.00	

A difference of (-\$1,610.00)

g. Contract Item No. 8: Alternate 1: Reflectorized Raised Pavement Markers Current:

DESCRIPTION: Reflecte	DESCRIPTION: Reflectorized Raised Pavement Markers ,				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
8	129	Each	\$6.00	\$774.00	

Change to:

	DESCRIPTION: Reflecto	☐ Base Bid or X Alt.# 1			
	REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
ļ	8	67	Each	\$6.00	\$402.00

A difference of (-\$372.00)

h. Contract Item No. 9: Alternate 1: Adjustment of Manholes Current:

DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# 1			
REF. NO.	QUANTITY: .	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
9	39	Each	\$100.00	\$3,900.00

Change to:

DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# _1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
9	12	Each .	\$100.00	\$1,200.00

A difference of (-\$2,700.00)

i. Contract Item No. 11: Alternate 1: Adjustment of Water Valves Current:

	+			
DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# _1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
11	39	Each	\$35.00	\$1,365.00

Change to:

DESCRIPTION: Adjustm	☐ Base Bid or X Alt.# _1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
11	5	Each	\$35.00	\$175.00

A difference of (-\$1,190.00)

j. Contract Item No. 13: Alternate 1: Shoulder Material (Earthen Fill) Current:

DESCRIPTION: Shoulde	☐ Base Bid or X Alt.# 1			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
13	77,106	Linear Foot	\$1.25	\$96,382.50

Change to:

DESCRIPTION: Shoulde	☐ Base Bid or X Alt.# 1_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
13	50,426	Linear Foot	\$1.25	\$63,032.50

A difference of (-\$33,350.00)

k. Contract Item No. 14: Alternate 1: Four (4) Inch Wide Thermoplastic Reflective Striping Current:

DESCRIPTION: Four (4)	Inch Wide Thermoplastic Refl	ective Striping		☐ Base Bid or X Alt.# 1
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
14	12,483	Linear Foot	\$0.50	\$6,241.50

Change to:

DESCRIPTION: Four (4)	DESCRIPTION: Four (4) Inch Wide Thermoplastic Reflective Striping				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT-PRICE EXTENSION (Quantity times Unit Price)	
14	12,272.5	Linear Foot	\$0.50	\$6,136.25	

A difference of (-\$105.25)

Total of Change in Alternate 1 Items = (-\$105,634.83)

a. Contract Item No. 2: Alternate 2: 2 - Inch Depth Cold Plane Current:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Cold Plane				
REF. NO.	. QUANTITY:	UNIT OF MEASURE:	. UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
. 2	1,076	Square Yard	\$1.00	\$1,076.00	

Change to:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Cold Plane					
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)		
2	977.78	Square Yard	\$1.00	\$977.78		

A difference of (-\$98.22)

b. Contract Item No. 3: Alternate 2: 2 - Inch Depth Asphaltic Wearing Course Current:

DESCRIPTION: 2 - Inch	Depth Asphaltic Wearing Cour	•	☐ Base Bid or X Alt.# 2	
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
3	118	Ton	\$75.00	\$8,850.00

Change to:

DESCRIPTION: 2 - Inch	☐ Base Bid or X Alt.# 2			
REF. NO.	QUANTITY;	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
3	123.1	Ton	\$75.00	\$9,232.50

A difference of (+\$382.50)

c. Contract Item No. 4: Alternate 2: 3 - Inch Depth Asphaltic Wearing Course Current:

DESCRIPTION: 3 - Inch	DESCRIPTION: 3 - Inch Depth Asphaltic Wearing Course				
REF. NO.	REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE				
4	. 452	Ton	\$75.00	\$33,900.00	

Change to:

DESCRIPTION: 2 - Inch	DESCRIPTION: 2 - Inch Depth Asphaltic Wearing Course				
REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE				UNIT PRICE EXTENSION (Quantity times Unit Price)	
4	524.25	Ton	\$75.00	\$39,318,75	

A difference of (+\$5,418.75)

d. Contract Item No. 6: Alternate 2: Reflectorized Raised Pavement Markers Current:

DESCRIPTION: Reflecte	☐ Base Bid or X Alt.# 2			
REF, NO.	REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE			
6	5	Each	\$6.00	\$30.00

Change to:

DESCRIPTION: Reflecto	DESCRIPTION: Reflectorized Raised Pavement Markers				
REF. NO.	UNIT PRICE EXTENSION (Quantity times Unit Price)				
6	2	Each	\$6.00	\$12,00	

A difference of (-\$18.00)

e. Contract Item No. 10: Alternate 2: Shoulder Material (Earthen Fill) Current:

DESCRIPTION: Shoulde	DESCRIPTION: Shoulder Material (Earthen Fill)				
. REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
10	3,204	Linear Foot	\$1.25	\$4,005.00	

Change to:

DESCRIPTION: Shoulde	DESCRIPTION: Shoulder Material (Earthen Fill)				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
10	3,121	Linear Foot	\$1.25	\$3,901.25	

A difference of (-\$103.75)

f. Contract Item No. 11: Alternate 2: Net Section Common Excavation Current:

DESCRIPTION: Net Sec	DESCRIPTION: Net Section Common Excavation				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
11	1,767	Cubic Yard	\$10.00	\$17,670.00	

Change to:

DESCRIPTION: Net Sec	DESCRIPTION: Net Section Common Excavation				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
11	1,697.71	Cubic Yard	\$10.00	\$16,977.10	

A difference of (-\$692.90)

g. Contract Item No. 13: Alternate 2: 12 – Inch Structural Fill Current:

DESCRIPTION: 12 - Inc	☐ Base Bid or X Alt.# 2_				
REF. NO.	REF. NO. QUANTITY: UNIT OF MEASURE: UNIT PRICE				
13	1,015	Cubic Yard	\$22.00	\$22,330.00	

Change to:

	O.1411.50 to.			
DESCRIPTION: 12 - Inc	☐ Base Bid or X Alt.# _2_			
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
13	885.76	Cubic Yard	\$22.00	\$19,486.72

A difference of (-\$2,843.28)

h. Contract Item No. 14: Alternate 2: 8 – Inch Limestone Base Current:

DESCRIPTION: 8 - Inch	☐ Base Bid or X Alt.# 2			
REF. NO.	QUANTITY;	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)
14	615	Cubic Yard	\$90.00	\$55,350.00

Change to:

DESCRIPTION: 8 - Inch	DESCRIPTION: 8 – Inch Limestone Base				
REF. NO.	QUANTITY:	UNIT OF MEASURE:	UNIT PRICE	UNIT PRICE EXTENSION (Quantity times Unit Price)	
14	590.51	Cubic Yard	\$90.00	\$53,145.90	

A difference of (-\$2,204.10)

Total of Change in Alternate 2 Items = (-\$159.00)

Total of Change in Revised Items = (-\$104,555.09)

Total of Change in Deleted, Additional, and Revised Items = (-\$119,646.73)

Reason for Change Order:

- 1. Deleted Work Items
 - a -c: Items were not required.
 - a-b: Items were not required.
 - a-e: Items were not required.

2. Add Work Items

- a: Railroad Crossing Emblems were required on Evangeline Rd.
- **a -c**: At the request of the Parish, more work was added to Alternate 1 in order to facilitate additional construction on Estay Ln.
- a: Reconstruction of a drainage structure was required on Stanton Hall Dr.
- **b -e**: In Order to facilitate the reconstruction of Railroad Ave., permitting and additional insurance was required

3. Revise Work Item Quantities

- a -h: Quantities were revised to match actual work performed in the field.
- a -k: Quantities were revised to match actual work performed in the field.
- a -h: Quantities were revised to match actual work performed in the field.

	· · · · · · · · · · · · · · · · · · ·
CHANGE IN CONTRACT PRICE:	CHANGE IN CONTRACT TIMES:
Original Contract Price \$1,807,961.50	Original Contract Times: Substantial Completion: Ready for final payment: January 16, 2011 (days or dates)
Net Increase (Decrease) from previous Change Orders No0 to1: \$211,617.35	Net change from previous Change Orders No. 0 to No. 1: Substantial Completion: 0 days Ready for final payment: January 16, 2011 (days)
Contract Price prior to this Change Order: \$ 2,019,578.85	Contract Times prior to this Change Order: Substantial Completion: Ready for final payment: January 16, 2011 (days or dates)
Net increase (decrease) of this Change Order: \$ -119,646,73	Net increase (decrease) this Change Order: Substantial Completion: Ready for final payment: January 24, 2011 (days)
Contract Price with all approved Change Orders: \$ 1,899,932.12	Contract Times with all approved Change Orders: Substantial Completion: Ready for final payment: January 24, 2011 (days or dates)
RECOMMENDED: By: By: Date: 3/28 1	gnature) By: White Washington (Authorized Signature)

EJCDC 1910-8-B (1996 Edition)

Prepared by the Engineers Joint Contract Documents Committee and endorsed by The Associated General Contractors of America and the Construction Specifications Institute,